B.Sc. 6th Semester (Programme) Examination, 2021

CHEMISTRY
(Analytical Clinical Biochemistry)
Paper : UGP/S.C./604/SEC-4
Course ID: 61410

Time: 2 hours

The figures in the margin indicate full marks.

Full Marks: 40

Candidates are required to give their answers in their own words as far as practicable.
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1. Answer any five of the following questions:

(T (S ATBIO AT TS AIS:

a) What are the steps in carbohydrate metabolism?

FIARRCGE (NOREGUNT VLT 419Y e fF 2

b) Why amino acids are called zwitterions?
NN QNGIE G201 W J601 2 (FN?

c) Write down the open chain structure of glucose and fructose.

PS8 JLOTE AL YT Y 1IN AT FAT
d) What is Nucleotide?

NCiHetRG 62

e) Draw the structure of guanine base.
QBIN HEAF TN THN AT

f) What is the main constituent of urine?
A YA AT 572

g) What is ribozyme?

ARAGIRN fF2

h) What class of enzyme is phosphatase?

TIPOG [P YT INGI2N?

2x5=10
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2. Answer any four questions: 5x4 =20
(T (FHS BRG AT TS W18:

a) Sucrose does not reduce Tollen’s reagent, but glucose and fructose do. Explain. 5

TIPS BLeT= fRBI (F RGN FACS AT 1, (FE 1o A1 o1 AT | 970 HCAT

b) Describe primary and secondary structure of proteins. 25+25=5
(ANOTAR AMEN GI3 CNFCIF 73N I FAT

¢) What are liposomes? Describe biological function of liposome. 2+3=5
FTRCATTGIN JEIC© [ ([@RA? IF *MANIIS T FrIANAF [IFT 718 |

d) Define Michaelis-Menten constant. What are Co-enzyme and Co-factor? 3+2=5

BRI (B &P SR M8 | (FT-JNGIRN I3 (F-FIFL IO [ (IR0
e) i) What are essential amino acids? Provide two examples with structure.
TSI WA WG FIF ICA? NITIAR 6 GUTIRAT (AT

i) What are the main differences between venous blood and arterial blood?

T T 933 NN 0T W LT 52 3+2=5

f) 1) What is lipid? Name the two fundamental building blocks of lipids. Write their
structures.

A [F2 FHE 7f6 (IS 5751 SAMITAS WY 8 OIH TS (AT 1+2+42=5
3. Answer any one of the following questions: 10x1 =10
(T (S JHC AR TS WS

a) i) Write down the overall reaction of glycolysis.

MR A G I aF RGO @Foan|

ii) Draw the overall schematic outline of Krebs cycle (TCA Cycle). 3+7=10

(P33T B STNIAF ARG NI ST AT

b) i) Write down the constituents of DNA.

DNA 4 BHRIN&f (0|

ii) Draw the structure of Watson-Crick base pairs and describe their interactions.

STOAN-{PF o RS TN AEA I M ROIHP*N A6 | 5+5 =10




